SECTION-II
Q. No. 6
a. In abag, there are a certain number of toy-blocks with alphabets A, B, C and D written on them.
The ratio of blocks A: B: C: Disinthe ratio4: 7 : 3 : 1. If the number of 'A' blocks is 50 more
than the number of 'C' blocks, what is the number of ‘B’ blocks?
b. A pair of shoes originally cost is 808. If there isa 15% discount and 10% sale tax applied. What is
the final price?
c. A train travels 42km between two stops at average of 36km/hr. If train departs at 4pm.When does
the train arrive?
d. Armange the jumbled words:

1. teninsuperted ii. hweti

Q.No.7

a. Find the volume of a cylinder with radius 30 ¢cm and height 1m.

b. The average age of three boys is 15 years. If their ages are in the ratio 3:5:7, what is the age of the
youngest boy?

c. ldentify the series:
1.8, 19,52, 151, 447, __. (What is wrong number in this series?)
ii, 11,13,17,19,23; __.

d. Ifatriangle has sides of Sem, 4cm and 6¢cm.What will be each angle?

Q.No. 8

a. A man travels over the path of a right-angle triangle having base and hypotenuse 4 and 5 kilometers,
respectively. After a complete round he continues in the same direction for 6 km and then turns at
90 degree and continues for another 8km.How long he has travelled and how far he is from his starting
point?

b. Hassan, Ali, Akbar, Nasir and Shahbaz are classmates having different pocket money. Hassan's
pocket money is one third as much as of Ali and Ali has five times as much as Akbar. Akbar has
thrice as much as Nasir and Shahbaz gets equal to Nasir and that of Ali. If they get Rs. 8000 then find
the pocket money of each.

¢. What will be the surface area and volume of a sphere if it has radius of 7m?

d. Distribute Rs. 4320 among Zain, Aslam and Ashraf in such a way that if Zain gets 2 parts then
Aslam gets three parts, whereas Ashraf gets seven parts.
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